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root@Kali: ~/ida e ® £

MH(F) HwmiB(E) BEB(V) EER(S) £im(T) BEBHI(H)
:~/ida# file '/root/ida/baby reverse'
/root/ida/baby reverse: ELF 64-bit LSB shared object, x86-64, version 1 (SYSY
), dynamically linked, interpreter /lib64/1ld-linux-x86-64.s50.2, for GNU/Linux
3.2.0, BuildID[shal]=1bcf1f307c31382f36ffa5532ea434876812b0db, not stripped
:~/ida#
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root@kali: ~/ida e ® ¢
MHH(F) #miB(E) ZJ;E(V) HEZE(GS) £ #BHIH)

:~/ida# '/root/ida/baby reverse'
Please Input Key: 123
Your Length is Wrong

:~/ida#
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int _ cdecl main(int argc, const char **argv, const char **envp)

memset(&s, @, @x1EulLL);

printf("Please Input Key: ", QLL);

__is0c¢99 scanf("%s", &v5);

encode(&v5, &s);

if ( !strcmp(&=, enflag) )
puts("You are Right");

return 9;
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Miti mitrenflag.

.data:0000000000004058  dso_handle dq offset _ dso handle ; DATA XREF:  do_
.data:0000000000004058 . .data:__dso_hand
.data:0000000000004060 public enflag

.data:00000P00R0RA4060 ; char enflag[]

.data:0000000000004060 enflag db 'bIwhroo8cwggwrxusi',d
.data:0000000000004060 : DATA XREF aln+
.data:0000000000004073 db 5

.data:0000000000004074 db a

.data:0000000000004075 db 5

.data:0000000000004876 db a

.data:0000000000004077 db 5

.data:0000000000004078 db a

.data:0000000000004079 db 5

.data:0000006000000407A db a

.data:000000000000407B db 5

.data:000000000000407C db a

.data:000000000000407D db 5

.data:000000000000407D0 data ends

.data:000000000000407D



% Flenflag="blwhroo8cwggwrxusi’
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int _ fastcall encode(const char *al, _ int64 a2)
{
char v3[32]; // [rsp+l€ bp-76
char v4[32]; // [rsp+3€ bp-5€
char v5[36]; // [rsp+5€ bp-3€
int ve; // [rsp+74 bp
int v7; // [rsp+7 bp
int i; // [rsp+7 bp-4
18
i=0;
5= 8;

if ( strlen(z1) != 18 )
return puts("Your Length is Wrong");
puts{"flag{This_1s_ fdcker_flag}");
for ( 1 =0; 1 < v/; 1 +=3)
{
v5[1] = v7 ~ (&l[1] + 6);

.;[L + 1] = (al[i + 1] - 6) ~ v7;
A1+ 2] =zal[i+2] ~6 "™ v/;
*( BYTE *){(a2 + 1) = v5[1];
*(_BYTE *)(a2 + + 1LL) = v4[1 1;
*(_BYTE #)(a2 + 1 + 2LL) = [1 2];
}
return a2;
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Please Input Key bIwhroo8cwggwrxusi
Tlag{Thlq 1s fdcker flag}
~/ida#
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for (1 =0; 1 <v/; 1 +=3)
{
5[i] = v7 ~ (al[i] + 6);
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VE]L + L] = \di|lL *+ L] - Q) T Vi,
vi[i + 2] = al[i + 2] ~ & ™~ v7/;
*(_BYTE *)(a2 + 1) = v5[1];

*( BYTE *)(a2 + i + 1LL) = vA[i + 1];
*( BYTE *)(a2 + i + 2LL) = v3[i + 2];
¥

return a2;
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fit Lha2="biwhroo8cwqgwrxusi’

for (i=0;i<v7;i+=3)
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(0, (enflag)_3):
v5t=enflag[i]

v4t+=enflag[i+1]

v3+=enfla g : 1+ ] hitps://blog.csdn.net/gg_437
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enflag=
deflag=
v3=
v4=
v5=
i (0, (enflag)_3):

v5+=enflag[i]
v4t=enflag[i+1]
v3+t=enflag[1+2]

7 (0,6):
deflagtzchr((ord(v5[i])A




deflagt=
(deflag)
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